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Chapter 4 Practice Test- Relations and Functions ol

Multiple Choice. _ . _
Identify the choice that best completes the statement or answers the question. .~

. Identify the range of this relation.
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2. Determine the range of the graph.
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3. Consider _the.relation represented by this graph. Represent-the.relai;ion, as.a set’of ordered p_éir_s._. oo

- Distances Jogged in a Day

1"
10

., or&érec\ Pair«si'_:aa’ i'fefté-;asz (Kﬁ)l

Distance (km) R

. {(Josh, 5), (Koko, 2), (Tony, 1), (Shadi, 8), (Jodi, 4)}.
b, {(5, Josh), (2, Koko), (Tony, 1), (8, Shadi), (Jodi, 4)}
e {05, Josh); (2, Koko), (1, Tony), (8, Shadi), (4, Jodi)}

d.  {(Josh, 5), (Koko, 2), (Tony, 1), (Shadi, 4), (Jodi, 8)} -
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4. Determine the domain and range of the graph 6f_th_is’ function. .-
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5. Which graph represents the linear ﬁmctlon y= = —4x +3?

(H[NT Create a tab]e of values usingx=0,1,2 and then .plot the ordered palrs)
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6. Determine the domain and range of this grapﬁ.- SRR
' g POMMN — 4

'y I , :
O —
_ 4|2 |0 2 4 | x RANGE -
A N

a x<3;-1<y<4 b -12x24y<3 c 3st4;y3—1"ﬁl'sx's4;y"’s'3 '

7. Determine the domairi of this graph.
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8. This table shows the cost, C dollars, of different numbers Qfgtickqs sold, n. Identify the range. - -

X Y '
Number of Tickets, Cost, C

n 1 ®

1 11.50

2

3 34.50

4 . 46.00

3 - 57.50

o {1,11.50, 2, 23.00, 3, 34.50, 4, 46.00, 5, 57.50,..}
b {1,2,3, 4,5, 11.50, 23.00, 34.50, 46.00, 57.50}
© (@) {11.50, 23.00, 34.50, 46.00, 57.50,...},

6 {1,2,3,4,5,.})

9. Identify the domain of this relation.

{(o.11),(6,8),(10,-12),(7-9)}
xy %Yy Xy -
{6,7,9,10} . | ¢ {6,7,10,11}

b {-9,810,11} | 4 {£12,-9,8,11}

The domadn is fh listof ol the x volues

23.00 ' The cange \5 JV\(LL ktfa{_ o% Ctu J\’\M—St Mm&rbl
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10. Which of these graphs'repre-sents‘aﬁmctfon? tac)_f’l S Onvu"‘) PusT ?WAHC’L ?ﬂ\-\[ one.y (DU“‘Fuﬂ'
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11.  Which set of ordered pairs does not represent a function?

i).{(1,4),(2,7),(3,10),-(1,—2)-} nojra{—uncjﬂon hecause on mpu’r o% 1 ?roclueas cn |
- | ow\—? : OYY -7 and 4
in{(s,s),(a—a),(as),(v.,+9)} |
| m){ ) (-2.-5).(-3 4),(4,6)} |
2 {(6,0),(3,_2),(_5,4),(_;o)}

o iv bl o i
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Short AnsWér

12. How can you tell that this graph represents a function?

- Cost of Hosting a Dance
4000 =
3000 _ *

& - P
w : .
2000 -
S -
L
1000 +—

100 200 300 - 400
Number of people

' FO‘( Q\I{'(\_E] A- \/G\\u{ "‘P(I'Crﬁ, 1.5 O'ﬂ\\!l 0L, \_i "VO\\AC .

13. Use the numbers ,Bé.l'éw. 4
~7,0,3, -5, 6,0 T
a) Write a set of or&leréd pairs thét_ fépresé.nté a function.

C_-_«'_)O) -’,__.(,.g )3) | (O )‘63 |

b) Write a set of ordered pairs that does not represent a function.

(Q%?'—F) NG g,zj SIS
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14. Joshua went on a bnke ride. For part of the ride, Joshua stopped to play in a'park with a friend. Whlch segment of
the graph best describes thls part of his bike ride? '

_'Joshua's Bike Ride - o : o
5 - I SEGHMENT BC PESCRIBES THIS PART,

2 )4 T3 JosHuA's DISTANCE FRoM HOME REMAINS
4 ' \ CONSTAMT FRoM APPROX. 45 MUK T F6 VIV,
E ] : : ‘
£l \\
£
.82
i 1 \

7 | \

O 20 40 80 80 100 120 ’

Time {min}

15. This graph shows the free—fall speed of a skydwer asa funct;on of time. About how iong did the skydlver sjump

last‘? .
' _ OA - occe\e,ra‘hs o»%lrcr Juufnp

150 Free-Fall Speed of a Sky-d.i.ver_. - | A _ rmches ﬁrmma\ \{E«\OCL'&‘-‘! o

o ) B — c,\(lujl'{’. 'o?ens p\nc\ sfpegt\ reduces c[u{ch\;
,.120 Y - o;v?roac\oes'g:rounc_&ﬁa’lf S\Ower *S'gﬁeec%
%'80 // bE - 'kQY\c\"S‘ =

40 / : ju\m\? _\a%\‘s doout™ 6% minutes

/ 2 D | , T
, C : '

O s 101520253035404550556065
Trme(s)

16. Suppose you were o graph the data in this table of values. Would you join the points? Justify your answer.

Number of Pop Botiles, Refund, r (5)
. _
5 : ‘ 1.00
12 | 2.40
17 3.40
24 4.80
30 ~ 6.00

"NO , You viouLD NoT JDIN THE PoINTS BECAUSE FoP Botries
ARE VTEMS THAT CANNOT BE PARTMLLY REFUNDED, \gom MUS T

‘ HA\I\? s WHDL’E' NUMEB’Q 9 pF Eo'rrl:u's



17.-.;‘De.tenni1_1_er the:domain and range of the graph of this function;-'-
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18, This graph shows the cost of hosting a dance, ¢, as a functlon of the number of students attendmg, n. What isa
restriction on the domain? :

.| .Costof Hosting a D cey e SN g g e
oo S DOMAIN MUST BE A WHOLE NUMBER
§_,2opo_ e L — S _' _ Wl’}e'rc .S \5 on ln)(‘esar
100015
ok — >
. 100 200 300 400 n
" Number of Students

10
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19. This graph shows the height of the tide in a harbour as a function of time in one day. 'Whét is the greateét' height of
the tide? : ' ' -

<

l-.!éight:of_the Tide in a Harbour
10 ; .

81—t A~ e : e am

o , E ‘ o) I
00:00 ~ 03:00 0600  09:00 12:00 1500  18:00  21:00- -24:00: -
‘ e .. Time (23-h clock) ‘

20. Each point on this graph represents a person. Which two peop-lé‘:'zlre'f.ihé same age?
. - s

i ' Ages and Masses of People -
- F
80 *—
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60 - ]
= C D
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BO
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20 ®
0 4 8 12 16 20

Age (years)

D and £ are Y same aﬂe
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21. . Explain why the points on this graph.are not joined. .

sono IS g ey M:-Poxhj\?ﬁ- e ot Join.@,«g because
3000 1 el | % 're?rasénjfs PECPLE . You cannst have
if‘ 2000 [ I fmc‘hm 0% A persen- \M‘ndﬂ (8 whod~
5 N i com\e,c"nec Pom“’t’s would de?tc—t
© 100014 : .

100 200 300 400
Number of people

22.. The relation between x and y is linear, W]’]lCh number would complete th:s table‘?
. L4 A& A+ o4 '
x 3 |77 11 15| 19 ‘Eof e,ac\n mca’méa O’E 4 _ E
y 1_8_ 1| 4f N VA -’rhere 5 a Aearﬁcesa oig— ¥ Sl 2D
: 3 :
‘This graph shows the cost of a taxi ride. The cost, dollars isa ﬁmctlon of the duratlon of the ride, 7 min. What is -
the duration of the nde when the cost:is $3 57

N Cor 7 . P
- T€ } Cost of a Taxi Ride ;
50 -
.40
¥a5 =
230~
8 T
O /
© 20
: -
10 zall
0 10 20 30 40 50 40 70t ..
' Time (min) : Rp
5_C_lm£nu+€5

12
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24, Thls graph shows the: helght of the itde ina harbour as:a: ﬁmctlon of tlme in.one day. At about what time in the-
' mommg does the least height occur?

h

. Height of the Tide ina Harbour s

10—

... -

AR ' / \\ T :)%)Fa%\'{( 10 "ODM

" Height (m)_

2 ' _ \\?/ SEH N . \';_ al

0 . , : A ->.
00:00 03:00 06:00 02:00 - 12:00 - 1500 18:00 21:00 ) 24:00 .
’ Time (24-h clock)} ' '

25, This graph shows cost, C dollars, as a function of time, ¢ hours. What is.the -time:wh:en ;the.ciqgt is $5b? .
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26 Cons;der the relation represented by this-arrow. d:agram Represent the relatlon as a set of ordered palrs

contalns this number
of passengers

27. The graph shows the speed of a windsﬁrfer as a function of time.

T Speed of a Windsurfer |
50
: B C
40 :
gl 1\
gw - 7 \ |
e
gzo b \D
10
/
- E LY
0] 2 4 6 - 8 10 .

Time {s)

a) For how long did the windsurfer travel at a speed of 45 km/h?
b) How long did the windsurfer’s ride last? - 10 yainutes

14

% wmin - 3, gm_gh':‘# 45—mln



